o @ X g fire decimaler, reekkefolge for operationer med
H parenteser

Navn: Dato:  Score:
(2—5,8)x5,8—-3,9= 92,5-2,2)+3=
(5,7+6,4)x6,5-6,7= (15+3+2,4)x2,7=
122,6 —6,4)+4 = 30+5-2,3)x5,8=
(15+3+5,7) x4 = 5—-6,7)x4,5-5=
4,5-2,4(3,2—-2,3)= (16+4+5,9)x2,2=
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oo @ X g % fire decimaler, reekkefolge for operationer med
H parenteser

Navn: Dato:  Score:
(2—5,8)x5,8—3,9=-2594 92,5-2,2)+3=0.9
(5,7+6,4)x6,5—6,7=71.95 (15+3+2,4)x2,7=19.98
122,6 —6,4)+~4=—114 (30+5-2,3)x5,8=21.46
(15+3+5,7)x4=4238 5—-6,7)x4,5-5=-12.65
4,5—-2,4(3,2—2,3)=2.34 (16 +4+5,9)x2,2=21.78
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